Boundary Condition: TE
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Assign as HW, calculate two H field components and check boundary conditions.



Boundary Condition: TE
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Boundary Condition: TE
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TE Transfer Matrix
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Assign as HW: determine the transfer matrix between the Nth and the transmission layer.



Reflection and Transmission: TE
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Boundary Condition:

—T Only outgoing uniform EM wave
TE B exist in the transmission layer
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Reflection: TE
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S+ Poynting vector associated with the reflected wave.
St Poynting vector associated with the transmitted wave.
2 Reflection coefficient R represents the fraction of
EM wave reflected back by the planar structure.
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Transmission: TE
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Transmission: TE
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Reflection and Transmission: TE

EM fields take the form of uniform plane wave in the B < w~\[E 1t
transmission layer:

Calculate the transmission matrix of the entire [‘gt] = Trg [‘;l]
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TM Solution
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'ﬁn > TM Solution
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En v TM Transfer
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TM Transfer Matrix
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Reflection and Transmission: TM
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Reflection and Transmission: TM
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Reflection and Transmission: TM
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Reflection and Transmission: TM
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Reflection and Transmission: TM

EM fields take the form of uniform plane wave in the B < w~\[E 1t
transmission layer:

Calculate the transmission matrix of the entire
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Comparison of TE and TM Cases
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Comparison of TE and TM Cases
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Comparison of TE and TM Cases
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Comparison of TE and TM Cases
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